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SECTION 11: MACROECONOMICS ,,:"L_

(#1) (1.1) Let C, dencte consumption at time ¢, ¥, denote disposable income at time &,
(a) Let ¢ be a positive constant. Explain the meaning of the simple Keynesian consumption function:

C =¥, 0
(b) Does the observed ratio C, / F, fluctuate over time? Why? (2 points)
(1.2} A simplified version of a modern consumption function is
Co=ariW, +beOsY, +ba(1- 81 ¥, (i)

3R

where W is areal wealth at time t, and a7, b, and & are all parametets,
{(a) Does this function illustrate the main features of the life-cycle hypothesis, the permanent-income hypothesis,
or both? Why? (4 points)
(b) Graphically, use this consumption function to show the effects on consumption of a sustzined increase in
consurmption. (4 points)

(1.3} The modern consumption function in equation (i) includes wealth, Show in an IS-LM diagram how an
increase in wealth affects the level of output and the interest rate. (4 points)

{#2) (2.1) Suppose we assume a production function of the form
LW LY &l Fidlad (i)

where ¥ denctes cutput, 4 denoctes the state of technology, X denotes capital input, L denotes labor input, Z is a
measure of natural resouces, and a, 4, ¢, are parameters. Assume this production function obeys constant returns
to scale and diminishing returns to each factor. Mathematically show what will happen to per capita output if
capital and labor grow together but resources are fixed. (4 points)

(2.2} Mathematically show what will happen to output if Z is fixed but there is technical progress, {4 points)

(#3) Assume the following IS-LM model for the expenditure sector and the money sector.
Expenditure Sector
AD=C+I1+G+ NXY

.Muoney Sector
C=100+(4/5~F,

Y,=¥-T4+TR M =700
TA=(1/4»¥ =12
TR =250~ (1/5HY M,=MIP
1= 300204 L=(1/3)*Y+200-10+;
G =120
NX = =20
Equilibrium conditions in the two sectors are given by
Y=AD
M, =L

(3.1) Derive the equilibrium values of consumption (C), investment spending (f), and demand for real cash balances
(£). (3 points)

(3.2) How much of investment will be crowded out if the government increases ils purchases by AG =160, and the
meney supply is not changed? (2 points)

(3.3} Show your solutions to (3.1} and (3.2) graphically. (2 points)

(3.4) By how much will the equilibrium level of income and the interest rate change from {b), if money supply is
increased to M = 10007 What does the sign of the equilibrium interest rate imply? (3 points)

(#4} Let y, be the actual level of output, y; the full-employment level of output, #, the inflation rate, and 4 2 positive
parameter. Note that the subscript £ {or £-1) denotes time period ¢ {or +-1). Consider an economy that

experiences an adverse supply shock. We model this by introducing into the Phillips curve (or the dynamic
aggregate supply curve} a one-time shock «x,;

A, =x + Ay, -y}, ' (iv)

The term x, is positive during the supply shock. In a two-dimensional diagram with ¥, on the horizontal axis
and x, on the vertical axis, show the adjustment process to such a disturbance. (& points)
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